Name: _________________________________	Period: __________________/5
Week 4 - Solving Inequalities ACT 10[image: ]
5.     [image: ]

A.  x < z
B.  x > 0
C. Nont of the above answers
D. x = z
E. x > z
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Solve each inequalify and graph its solution.

1) 2x+5239
A) x<-17:
B x23t s e
O oy,
D) x217: Lot een

3) 19+3k<-41
A) k<-80:

B) k247 s+ e
) k<-20:

D) k2-80:

2) -16+X <11

2
8) x<20° g
B) x>20:

©) x<10° ittt
D) x<20:
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Ifthe inequality |z| < |

Possible Answers:

z<z

z>0

None of the other an:

z>z

is true, then which of the following must be true?




